Event Number T-34-20

Event Title Taxiway Delta Phase II Reconstruction

Event Type ITB

 Issue Date
 8/31/2020 03:10:01 PM (ET)

 Close Date
 11/12/2020 02:00:00 PM (ET)

Responding Supplier	City	State	Response Submitted	Lines Responded	Response Total
Weekley Asphalt Paving, Inc.	Pembroke Pines	FL	11/12/2020 01:46:46 PM (ET)	66	\$1,089,290.50
GENERAL ASPHALT CO INC	MIAMI	FL	11/12/2020 12:59:50 PM (ET)	66	\$1,127,856.69
Florida Blacktop, Inc.	Pompano Beach	FL	11/12/2020 01:17:30 PM (ET)	66	\$1,132,984.33
Hardrives, Inc. (Hardrives of Delray, Inc.)	Delray Beach	FL	11/12/2020 01:33:07 PM (ET)	66	\$1,179,864.93
Stanford Construction Company (Stanford & Sons Trucking Corporation)	Pompano Beach	FL	11/12/2020 11:58:51 AM (ET)	66	\$1,250,750.76
Municipal Contractors	West Palm Beach	FL	11/12/2020 01:37:46 PM (ET)	66	\$1,294,999.00
Ranger Construction Industries, Inc.	West Palm Beach	FL	11/12/2020 01:31:19 PM (ET)	66	\$1,321,775.50
DP Development, LLC.	Pompano Beach	FL	11/12/2020 10:39:37 AM (ET)	66	\$1,545,537.50
R & D Paving	West Palm Beach	FL	11/12/2020 12:58:32 PM (ET)	66	\$1,671,215.25
FG Construction, LLC	Tamarac	FL	11/12/2020 01:48:18 PM (ET)	66	\$1,987,449.95

				Weekley Aspha	alt Paving, Inc.	GENERAL AS	PHALT CO INC	Florida Blacktop, Inc.	
				20701 St	irling Road	4850 N.W.	72nd Avenue	1287 W. A	tlantic Blvd
	Bidders:			Pembroke Pi	nes, Fl 33332	Miami,	Fl 33166	Pompano Be	each, Fl 33069
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
1	C-100-14.1 CONTRACTOR'S QUALITY CONTROL PROGRAM (CQCP)	1	LS	\$22,111.00	\$22,111.00	\$10,000.00	\$10,000.00	\$13,037.34	\$13,037.34
2	C-102-5.1 TEMPORARY AIR AND WATER POLLUTION, SOIL EROSION, AND								
	SILTATION CONTROL	1	LS	\$11,167.00	\$11,167.00	\$2,500.00	\$2,500.00	\$14,101.14	\$14,101.14
3	C-105-5.1 MOBILIZATION (5% OF OTHER ITEMS)	1	LS	\$92,584.00	\$92,584.00	\$55,000.00	\$55,000.00	<u>\$44,685.74</u>	\$44,685.74
4	S-102-5.1 AIRPORT SAFETY AND MAINTENANCE OF AIR OPERATIONS AREA								
	TRAFFIC REQUIREMENTS	1	LS	\$109,270.00	\$109,270.00	\$117,000.00	\$117,000.00	\$65,879.14	\$65,879.14
5	S-103-5.1 PROJECT SURVEY AND STAKEOUT	1	LS	\$25,000.00	\$25,000.00	\$45,000.00	\$45,000.00	<u>\$12,037.34</u>	\$12,037.34
6	P-101-5.1 FULL DEPTH ASPHALT PAVEMENT REMOVAL		SY	\$4.00	\$4,800.00	\$12.90	\$15,480.00	\$12.17	\$14,604.00
7	P-101-5.2 BITUMINOUS PAVEMENT MILLING (1")		SY	\$2.50	\$20,750.00	\$2.50	\$20,750.00	\$2.71	\$22,493.00
8	P-151-4.1 CLEARING AND GRUBBING		SY	<u>\$0.28</u>	\$2,576.00	\$1.63	\$14,996.00	\$4.73	\$43,516.00
9	P-152-4.1 UNCLASSIFIED EXCAVATION (SITE GRADING)	10400		\$3.00	\$31,200.00	\$1.38	\$14,352.00	\$2.24	\$23,296.00
10	P-154-5.1 12" SUBBASE COURSE (LBR-40)		SY	<u>\$3.00</u>	\$9,000.00	\$16.62	\$49,860.00	\$6.78	\$20,340.00
11	P-211-5.1 LIMEROCK BASE COURSE (8" THICK)	3000	SY	\$12.00	\$36,000.00	\$14.66	\$43,980.00	\$16.52	\$49,560.00
12	P-401-8.1.1 HOT MIX ASPHALT PAVEMENT	2300	TON	\$127.50	\$293,250.00	\$125.00	\$287,500.00	<u>\$117.97</u>	\$271,331.00
13	P-602-5.1 EMULSIFIED ASPHALT PRIME COAT	1500	GAL.	<u>\$1.00</u>	\$1,500.00	\$6.00	\$9,000.00	\$2.88	\$4,320.00
14	P-603-5.1 EMULSIFIED ASPHALT TACK COAT	2000	GAL.	<u>\$1.00</u>	\$2,000.00	\$6.00	\$12,000.00	\$2.11	\$4,220.00
15	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED,								
	YELLOW)	3000	SF	\$2.50	\$7,500.00	\$1.98	\$5,940.00	\$2.23	\$6,690.00
16	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)		SF	\$1.00	\$2,200.00	\$1.18	\$2,596.00	\$1.32	\$2,904.00
17	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS		SF	\$1.50	\$7,500.00	\$1.34	\$6,700.00	\$1.50	\$7,500.00
18	P-620-5.4 AIRFIELD PAINT REMOVAL	2000	SF	\$3.00	\$6,000.00	\$2.94	\$5,880.00	\$3.31	\$6,620.00
19	T-904-5.1 SODDING		SY	\$3.28	\$26,896.00	\$2.89	\$23,698.00	\$3.25	\$26,650.00
20	T-905-5.1 TOPSOILING, 2"		CY	\$15.00	\$6,750.00	\$16.34	\$7,353.00	\$17.96	\$8,082.00
21	L-108-5.1 HAND EXCAVATE MINIMUM 8" WIDE X 28" DEEP IN EARTH.	25	LF	\$60.00	\$1,500.00	\$64.20	\$1,605.00	\$18.06	\$451.50
22	L-108-5.2 SAW CUT AND HAND EXCAVATE MINIMUM 8" WIDE X 28" DEEP IN								
	EXISTING FULL STRENGTH PAVEMENT.	25	LF	\$125.00	\$3,125.00	\$133.75	\$3,343.75	<u>\$30.09</u>	\$752.25
23	L-108-5.3 3/4" X 20' GROUND RODS CONNECTED TO COUNTERPOISE.	11	EA	<u>\$115.00</u>	\$1,265.00	\$123.05	\$1,353.55	\$204.63	\$2,250.93
24	L-108-5.4 10' ADDITIONAL GROUND ROD SECTIONS.	11	EA	<u>\$50.00</u>	\$550.00	\$53.50	\$588.50	\$102.32	\$1,125.52
25	L-108-5.5 #6 BARE SOLID AWG COUNTERPOISE CONDUCTOR INSTALLED OVER								
	CONDUIT SYSTEM, NOT PARALLEL TO EDGE OF PAVEMENT.	4400	LF	<u>\$1.10</u>	\$4,840.00	\$1.18	\$5,192.00	\$1.20	\$5,280.00

				Weekley Asphalt Paving, Inc.		GENERAL ASPHALT CO INC		Florida Blacktop, Inc	
				20701 Stirling Road		4850 N.W.	72nd Avenue	1287 W. A	tlantic Blvd
	Bidders:			Pembroke Pii	nes, Fl 33332	Miami,	Fl 33166	Pompano Be	ach, Fl 33069
26	L-108-5.6 #8, 5KV, L-824 CONDUCTOR INSTALLED IN NEW AND EXISTING								
26	CONDUIT/DUCTBANK/MANHOLE SYSTEM.	6300	LF	<u>\$1.10</u>	\$6,930.00	\$1.18	\$7,434.00	\$1.20	\$7,560.00
27	L-108-5.7 #6, 600V, XHHW, GREEN EQUIPMENT GROUND INSTALLED IN NEW AND								
27	EXISTING CONDUIT/DUCTBANK/MANHOLE SYSTEM.	5200	LF	<u>\$1.20</u>	\$6,240.00	\$1.28	\$6,656.00	<u>\$1.20</u>	\$6,240.00
28	L-110-5.1 ONE 2" SCHEDULE 40 PVC CONDUIT NON-ENCASED DIRECT BURIED IN								
28	EARTH, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	4300	LF	\$6.70	\$28,810.00	\$7.17	\$30,831.00	<u>\$3.01</u>	\$12,943.00
	L-110-5.2 ONE 2" SCHEDULE 40 PVC CONDUIT CONCRETE ENCASED INSTALLED IN								
29	EXISTING FULL STRENGTH PAVEMENT, 24-INCH MINIMUM COVER, COMPLETE IN								
	PLACE.	110	LF	\$65.50	\$7,205.00	\$70.09	\$7,709.90	\$24.07	\$2,647.70
30	L-110-5.3 ONE 4" SCHEDULE 40 PVC CONDUIT NON-ENCASED DIRECT BURIED IN								
30	EARTH, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	50	LF	<u>\$8.00</u>	\$400.00	\$8.56	\$428.00	\$14.44	\$722.00
	L-110-5.4 ONE 4" SCHEDULE 40 PVC CONDUIT CONCRETE ENCASED INSTALLED IN								
31	NEW FULL STRENGTH PAVEMENT, 24-INCH MINIMUM COVER, COMPLETE IN								
	PLACE.	50	LF	\$85.00	\$4,250.00	\$90.95	\$4,547.50	\$30.09	\$1,504.50
32	L-110-5.5 INTERCEPT EXISTING CONDUIT SYSTEM AND CONNECT TO NEW								
52	CONDUIT SYSTEM.	10	EA	\$150.00	\$1,500.00	\$160.50	\$1,605.00	\$240.75	\$2,407.50
33	L-110-5.6 HAND EXCAVATE AND CONCRETE ENCASE EXISTING 2W4 CONDUIT,								
33	COMPLETE.	20	LF	\$150.00	\$3,000.00	\$160.50	\$3,210.00	\$60.19	\$1,203.80
34									
34	L-115-5.1 L-867 16" DIAMETER JUNCTION CAN WITH COVER INSTALLED IN EARTH.	1	EA	<u>\$900.00</u>	\$900.00	\$963.00	\$963.00	\$1,203.73	\$1,203.73
35	L-115-5.2 L-867 16" DIAMETER 2 CAN BOTTOMLESS JUNCTION CAN PLAZA								
33	INSTALLED IN EARTH.	3	EA	<u>\$2,650.00</u>	\$7,950.00	\$2,835.50	\$8,506.50	\$6,018.67	\$18,056.01
36	L-115-5.3REMOVAL OF EXISTING JUNCTION CAN PLAZA, COMPLETE.	1	EA	\$1,200.00	\$1,200.00	\$1,284.00	\$1,284.00	\$601.87	\$601.87
37	L-125-5.1 NEW L-861T(L), LED, TAXIWAY ELEVATED EDGE LIGHT AND BASE CAN IN								
37	EARTH.	53	EA	\$1,240.00	\$65,720.00	\$1,326.80	\$70,320.40	\$2,226.91	\$118,026.23
38	L-125-5.2 NEW L-861T(L), LED, TAXIWAY ELEVATED EDGE LIGHT MOUNTED ON								
36	EXISTING BASE CAN.	7	EA	\$1,145.00	\$8,015.00	\$1,225.15	\$8,576.05	\$601.87	\$4,213.09
39	L-125-5.3 INTERCEPT EXISTING CIRCUIT CONDUCTORS IN EXISTING BASE CAN/								
39	MANHOLE /JUNCTION CAN AND EXTEND CIRCUITS ACCORDINGLY.	11	EA	\$250.00	\$2,750.00	\$267.50	\$2,942.50	\$120.37	\$1,324.07
40	L-125-5.4 IDENTIFICATION OF CABLES, DUCTBANKS AND LIGHTING FIXTURES PER								
40	FAA SPECIFICATIONS.	1	LS	\$1,000.00	\$1,000.00	\$1,070.00	\$1,070.00	<u>\$601.87</u>	\$601.87

				Weekley Aspha	alt Paving, Inc.	GENERAL AS	PHALT CO INC	Florida Blacktop, Inc.	
				20701 St	irling Road	4850 N.W.	72nd Avenue	1287 W. Atlantic Blvd	
	Bidders:			Pembroke Pi	nes, Fl 33332	Miami,	FI 33166	Pompano Be	each, Fl 33069
41	L-125-5.5 INTERCEPT EXISTING LIGHT BASE CAN IN EARTH/EXISTING PAVEMENT								
41	AND CONNECT TO CONDUIT SYSTEM.	2	EA	\$250.00	\$500.00	\$267.50	\$535.00	\$361.12	\$722.24
42	L-125-5.6 REMOVAL OF EXISTING JUNCTION CAN/LIGHT BASE CAN IN EARTH, COMPLETE.	13	EA	\$150.00	\$1,950.00	\$160.50	\$2,086.50	\$120.37	\$1,564.81
		1		Ψ130.00	ψ±,330.00	Ψ100.00	Ψ2,000.50	Ψ120.37	ψ1,5551
43	L-125-5.7 RELOCATED L-852D, ALUMINUM FLUSH MOUNTED RUNWAY EDGE								
	LIGHT WITH NEW TOP SECTION INSTALLED ON EXISTING BASE CAN.	1	EA	\$1,970.00	\$1,970.00	\$2,107.90	\$2,107.90	\$902.80	\$902.80
	L-125-5.8 NEW L-858(L), SIZE 2, 1-2 CHARACTER, LED GUIDANCE SIGN AND			, , , , , , , , , , , ,	, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,	<u>,</u>	,
44	CONCRETE BASE INSTALLED IN EARTH COMPLETE.	2	EA	\$2,300.00	\$4,600.00	\$2,461.00	\$4,922.00	\$9,028.00	\$18,056.00
4-	L-125-5.9 NEW L-858(L), SIZE 2, 3-4 CHARACTER, LED GUIDANCE SIGN AND								
45	CONCRETE BASE INSTALLED IN EARTH COMPLETE.	6	EA	\$3,075.00	\$18,450.00	\$3,290.25	\$19,741.50	\$9,629.87	\$57,779.22
4.0	L-125-5.10 NEW L-858(L), SIZE 2, 5-6 CHARACTER, LED GUIDANCE SIGN AND								
46	CONCRETE BASE INSTALLED IN EARTH COMPLETE.	1	EA	\$3,160.00	\$3,160.00	\$3,381.20	\$3,381.20	\$10,231.74	\$10,231.74
47	L-125-5.11 REPANEL L-858(L), SIZE 2, 3 MODULE, LED GUIDANCE SIGN WITH								
47	ALLOWANCE ACCOUNT SIGN LEGEND PANELS.	1	EA	\$300.00	\$300.00	\$321.00	\$321.00	\$300.93	\$300.93
48	L-125-5.12 ALLOWANCE ACCOUNT FOR NEW LUMACURVE SIGN PANELS.	1	ALL	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00
49	D-701-5.1 36" CLASS II REINFORCED CONCRETE PIPE	300	LF	<u>\$140.42</u>	\$42,126.00	\$182.72	\$54,816.00	\$216.67	\$65,001.00
50	D-751-5.1 MODIFICATION OF EXISTING DRAINAGE STRUCTURE - PR-01	1	EA	\$5,890.00	\$5,890.00	\$2,386.37	\$2,386.37	\$2,166.72	\$2,166.72
51	D-751-5.2 FDOT TYPE "D" DITCH BOTTOM INLET	1	EA	\$6,210.00	\$6,210.00	\$6,035.07	\$6,035.07	\$6,139.04	\$6,139.04
52	P-101-5.2 BITUMINOUS PAVEMENT MILLING (1")	2351	SY	<u>\$2.50</u>	\$5,877.50	<u>\$2.50</u>	\$5,877.50	\$2.58	\$6,065.58
53	P-401-8.1.1 HOT MIX ASPHALT PAVEMENT	256	TON	\$147.50	\$37,760.00	\$125.00	\$32,000.00	<u>\$116.16</u>	\$29,736.96
54	EP-603-5.1 MULSIFIED ASPHALT TACK COAT	282	GAL.	<u>\$1.00</u>	\$282.00	\$6.00	\$1,692.00	\$2.11	\$595.02
55	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED,								
	YELLOW)	400	SF	\$2.50	\$1,000.00	\$1.77	\$708.00	\$1.99	\$796.00
56	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)	700	SF	<u>\$1.00</u>	\$700.00	\$1.18	\$826.00	\$1.32	\$924.00
57	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS	1100	SF	\$1.50	\$1,650.00	\$1.34	\$1,474.00	\$1.50	\$1,650.00
58	P-608-8.1 ASPHALT SURFACE TREATMENT	6250	SY	\$3.76	\$23,500.00	\$2.50	\$15,625.00	\$3.00	\$18,750.00
59	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED,			_		.		.	
	YELLOW)	2000	SF	\$2.50	\$5,000.00	\$1.77	\$3,540.00	\$1.99	\$3,980.00
60	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)		SF	\$1.00	\$1,500.00	\$1.18	\$1,770.00	\$1.32	\$1,980.00
61	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS	2500	SF	\$1.50	\$3,750.00	\$1.34	\$3,350.00	\$1.50	\$3,750.00

				Weekley Asphalt Paving, Inc.		GENERAL ASPHALT CO INC		Florida Blacktop, Inc.	
				20701 Stirling Road		4850 N.W. 7	72nd Avenue	1287 W. Atlantic Blvd	
	Bidders:	F		Pembroke Pines, Fl 33332		Miami, Fl 33166		Pompano Beach, Fl 33069	
62	FINISHES	1	LS	\$1.00	\$1.00	\$5,500.00	\$5,500.00	\$10,000.00	\$10,000.00
63	CLOSE-OUT	1	LS	\$12,000.00	\$12,000.00	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00
64	CONTINGENCY	1	LS	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
65	PERMIT ALLOWANCE	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
66	INDEMNIFICATION	1	LS	\$10.00	\$10.00	<u>\$10.00</u>	\$10.00	<u>\$10.00</u>	\$10.00
				Total Price	\$1,089,290.50	Total Price	\$1,127,856.69	Total Price	\$1,132,984.33

				Hardrives, Inc	c. (Hardrives of	Stanford C	Construction	Municipal Contractors	
				2101 South Co	ongress Avenue	1081 N.W.	12th Terrace	8958 Cypress Grove Lane	
	Bidders:			Delray Bea	ch, Fl 33445	Pompano Be	each, Fl 33069	West Palm B	each, Fl 33411
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
1	C-100-14.1 CONTRACTOR'S QUALITY CONTROL PROGRAM (CQCP)	1	LS	\$65,290.50	\$65,290.50	\$6,129.00	\$6,129.00	\$20,000.00	\$20,000.00
2	C-102-5.1 TEMPORARY AIR AND WATER POLLUTION, SOIL EROSION, AND								
	SILTATION CONTROL	1	LS	\$17,503.75	\$17,503.75	\$45,621.23	\$45,621.23	\$10,000.00	\$10,000.00
3	C-105-5.1 MOBILIZATION (5% OF OTHER ITEMS)	1	LS	\$48,842.75	\$48,842.75	\$83,770.00	\$83,770.00	\$55,000.00	\$55,000.00
4	S-102-5.1 AIRPORT SAFETY AND MAINTENANCE OF AIR OPERATIONS AREA								
	TRAFFIC REQUIREMENTS	1	LS	\$22,275.00	\$22,275.00	\$60,395.82	\$60,395.82	\$50,000.00	\$50,000.00
5	S-103-5.1 PROJECT SURVEY AND STAKEOUT	1	LS	\$48,290.00	\$48,290.00	\$35,640.00	\$35,640.00	\$15,000.00	\$15,000.00
6	P-101-5.1 FULL DEPTH ASPHALT PAVEMENT REMOVAL		SY	\$7.43	\$8,916.00	\$11.54	\$13,848.00	\$20.00	\$24,000.00
7	P-101-5.2 BITUMINOUS PAVEMENT MILLING (1")		SY	\$2.56	\$21,248.00	\$2.77	\$22,991.00	\$4.00	\$33,200.00
8	P-151-4.1 CLEARING AND GRUBBING	9200	SY	\$2.16	\$19,872.00	\$1.46	\$13,432.00	\$9.252	\$85,118.40
9	P-152-4.1 UNCLASSIFIED EXCAVATION (SITE GRADING)	10400	SY	\$5.34	\$55,536.00	\$1.23	\$12,792.00	\$2.50	\$26,000.00
10	P-154-5.1 12" SUBBASE COURSE (LBR-40)	3000	SY	\$8.53	\$25,590.00	\$14.84	\$44,520.00	\$13.50	\$40,500.00
11	P-211-5.1 LIMEROCK BASE COURSE (8" THICK)	3000	SY	<u>\$11.34</u>	\$34,020.00	\$13.10	\$39,300.00	\$28.00	\$84,000.00
12	P-401-8.1.1 HOT MIX ASPHALT PAVEMENT	2300	TON	\$140.77	\$323,771.00	\$152.81	\$351,463.00	\$170.00	\$391,000.00
13	P-602-5.1 EMULSIFIED ASPHALT PRIME COAT	1500	GAL.	\$5.50	\$8,250.00	\$8.85	\$13,275.00	\$5.00	\$7,500.00
14	P-603-5.1 EMULSIFIED ASPHALT TACK COAT	2000	GAL.	\$5.50	\$11,000.00	\$8.79	\$17,580.00	\$5.00	\$10,000.00
15	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED,								
13	YELLOW)	3000	SF	\$1.38	\$4,140.00	\$2.00	\$6,000.00	\$2.15	\$6,450.00
16	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)		SF	\$0.94	\$2,068.00	\$1.19	\$2,618.00	\$1.28	\$2,816.00
17	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS	5000	SF	\$0.94	\$4,700.00	\$1.35	\$6,750.00	\$1.45	\$7,250.00
18	P-620-5.4 AIRFIELD PAINT REMOVAL	2000	SF	\$1.71	\$3,420.00	\$2.97	\$5,940.00	\$3.20	\$6,400.00
19	T-904-5.1 SODDING		SY	\$3.49	\$28,618.00	\$3.14	\$25,748.00	\$4.50	\$36,900.00
20	T-905-5.1 TOPSOILING, 2"		CY	\$27.92	\$12,564.00	\$27.98	\$12,591.00	\$24.00	\$10,800.00
21	L-108-5.1 HAND EXCAVATE MINIMUM 8" WIDE X 28" DEEP IN EARTH.	25	LF	\$66.00	\$1,650.00	\$12.22	\$305.50	\$60.00	\$1,500.00
22	L-108-5.2 SAW CUT AND HAND EXCAVATE MINIMUM 8" WIDE X 28" DEEP IN								
	EXISTING FULL STRENGTH PAVEMENT.	25	LF	\$137.50	\$3,437.50	\$37.06	\$926.50	\$125.00	\$3,125.00
23	L-108-5.3 3/4" X 20' GROUND RODS CONNECTED TO COUNTERPOISE.	11	EA	\$126.50	\$1,391.50	\$249.41	\$2,743.51	<u>\$115.00</u>	\$1,265.00
24	L-108-5.4 10' ADDITIONAL GROUND ROD SECTIONS.	11	EA	\$55.00	\$605.00	\$132.80	\$1,460.80	<u>\$50.00</u>	\$550.00
25	L-108-5.5 #6 BARE SOLID AWG COUNTERPOISE CONDUCTOR INSTALLED OVER								
23	CONDUIT SYSTEM, NOT PARALLEL TO EDGE OF PAVEMENT.	4400	LF	\$1.21	\$5,324.00	\$1.96	\$8,624.00	<u>\$1.10</u>	\$4,840.00

				Hardrives, Inc	. (Hardrives of	Stanford C	Construction	Municipal Contractors	
				2101 South Co	ongress Avenue	1081 N.W.	12th Terrace	8958 Cypres	s Grove Lane
	Bidders:			Delray Bea	ch, Fl 33445	Pompano Be	each, Fl 33069	West Palm B	each, Fl 33411
26	L-108-5.6 #8, 5KV, L-824 CONDUCTOR INSTALLED IN NEW AND EXISTING								
26	CONDUIT/DUCTBANK/MANHOLE SYSTEM.	6300	LF	\$1.21	\$7,623.00	\$2.08	\$13,104.00	<u>\$1.10</u>	\$6,930.00
27	L-108-5.7 #6, 600V, XHHW, GREEN EQUIPMENT GROUND INSTALLED IN NEW AND								
	EXISTING CONDUIT/DUCTBANK/MANHOLE SYSTEM.	5200	LF	\$1.32	\$6,864.00	\$1.90	\$9,880.00	<u>\$1.20</u>	\$6,240.00
28	L-110-5.1 ONE 2" SCHEDULE 40 PVC CONDUIT NON-ENCASED DIRECT BURIED IN								
28	EARTH, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	4300	LF	\$7.37	\$31,691.00	\$5.74	\$24,682.00	\$6.70	\$28,810.00
	L-110-5.2 ONE 2" SCHEDULE 40 PVC CONDUIT CONCRETE ENCASED INSTALLED IN								
29	EXISTING FULL STRENGTH PAVEMENT, 24-INCH MINIMUM COVER, COMPLETE IN								
	PLACE.	110	LF	\$72.05	\$7,925.50	\$17.06	\$1,876.60	\$65.50	\$7,205.00
30	L-110-5.3 ONE 4" SCHEDULE 40 PVC CONDUIT NON-ENCASED DIRECT BURIED IN								
30	EARTH, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	50	LF	\$8.80	\$440.00	\$12.80	\$640.00	<u>\$8.00</u>	\$400.00
	L-110-5.4 ONE 4" SCHEDULE 40 PVC CONDUIT CONCRETE ENCASED INSTALLED IN								
31	NEW FULL STRENGTH PAVEMENT, 24-INCH MINIMUM COVER, COMPLETE IN								
	PLACE.	50	LF	\$93.50	\$4,675.00	\$32.24	\$1,612.00	\$85.00	\$4,250.00
32	L-110-5.5 INTERCEPT EXISTING CONDUIT SYSTEM AND CONNECT TO NEW								
32	CONDUIT SYSTEM.	10	EA	\$165.00	\$1,650.00	<u>\$64.80</u>	\$648.00	\$150.00	\$1,500.00
33	L-110-5.6 HAND EXCAVATE AND CONCRETE ENCASE EXISTING 2W4 CONDUIT,								
33	COMPLETE.	20	LF	\$165.00	\$3,300.00	\$31.60	\$632.00	\$150.00	\$3,000.00
34									
34	L-115-5.1 L-867 16" DIAMETER JUNCTION CAN WITH COVER INSTALLED IN EARTH.	1	EA	\$990.00	\$990.00	\$2,314.05	\$2,314.05	<u>\$900.00</u>	\$900.00
35	L-115-5.2 L-867 16" DIAMETER 2 CAN BOTTOMLESS JUNCTION CAN PLAZA								
	INSTALLED IN EARTH.	3	EA	\$2,915.00	\$8,745.00	\$6,042.70	\$18,128.10	<u>\$2,650.00</u>	\$7,950.00
36	L-115-5.3REMOVAL OF EXISTING JUNCTION CAN PLAZA, COMPLETE.	1	EA	\$1,320.00	\$1,320.00	\$586.05	\$586.05	\$1,200.00	\$1,200.00
37	L-125-5.1 NEW L-861T(L), LED, TAXIWAY ELEVATED EDGE LIGHT AND BASE CAN IN								
	EARTH.	53	EA	\$1,364.00	\$72,292.00	\$1,355.81	\$71,857.93	<u>\$1,240.00</u>	\$65,720.00
38	L-125-5.2 NEW L-861T(L), LED, TAXIWAY ELEVATED EDGE LIGHT MOUNTED ON								
36	EXISTING BASE CAN.	7	EA	\$1,259.50	\$8,816.50	\$994.01	\$6,958.07	\$1,145.00	\$8,015.00
39	L-125-5.3 INTERCEPT EXISTING CIRCUIT CONDUCTORS IN EXISTING BASE CAN/								
35	MANHOLE /JUNCTION CAN AND EXTEND CIRCUITS ACCORDINGLY.	11	EA	\$275.00	\$3,025.00	\$95.00	\$1,045.00	\$250.00	\$2,750.00
40	L-125-5.4 IDENTIFICATION OF CABLES, DUCTBANKS AND LIGHTING FIXTURES PER								
40	FAA SPECIFICATIONS.	1	LS	\$1,100.00	\$1,100.00	\$2,700.00	\$2,700.00	\$1,000.00	\$1,000.00

				Hardrives, Inc	. (Hardrives of	Stanford (Construction	Municipal Contractors	
				2101 South Co	ngress Avenue	1081 N.W.	12th Terrace	8958 Cypre	ss Grove Lane
	Bidders:			Delray Bea	ch, Fl 33445	Pompano Be	each, Fl 33069	West Palm Beach, Fl 33411	
41	L-125-5.5 INTERCEPT EXISTING LIGHT BASE CAN IN EARTH/EXISTING PAVEMENT								
41	AND CONNECT TO CONDUIT SYSTEM.	2	EA	\$275.00	\$550.00	\$185.02	\$370.04	\$250.00	\$500.00
42	L-125-5.6 REMOVAL OF EXISTING JUNCTION CAN/LIGHT BASE CAN IN EARTH, COMPLETE.	13	EA	\$165.00	\$2,145.00	<u>\$54.00</u>	\$702.00	\$150.00	\$1,950.00
43	L-125-5.7 RELOCATED L-852D, ALUMINUM FLUSH MOUNTED RUNWAY EDGE								
	LIGHT WITH NEW TOP SECTION INSTALLED ON EXISTING BASE CAN.	1	EA	\$2,167.00	\$2,167.00	\$2,314.05	\$2,314.05	\$1,970.00	\$1,970.00
44	L-125-5.8 NEW L-858(L), SIZE 2, 1-2 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EARTH COMPLETE.	2	EA	\$2,530.00	\$5,060.00	\$6,634.05	\$13,268.10	<u>\$2,300.00</u>	\$4,600.00
45	L-125-5.9 NEW L-858(L), SIZE 2, 3-4 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EARTH COMPLETE.	6	EA	\$3,382.50	\$20,295.00	\$8,125.67	\$48,754.02	<u>\$3,075.00</u>	\$18,450.00
46	L-125-5.10 NEW L-858(L), SIZE 2, 5-6 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EARTH COMPLETE.	1	EA	\$3,476.00	\$3,476.00	\$9,010.05	\$9,010.05	\$3,160.00	\$3,160.00
47	L-125-5.11 REPANEL L-858(L), SIZE 2, 3 MODULE, LED GUIDANCE SIGN WITH ALLOWANCE ACCOUNT SIGN LEGEND PANELS.	1	EA	\$330.00	\$330.00	\$694.05	\$694.05	\$300.00	\$300.00
48	L-125-5.12 ALLOWANCE ACCOUNT FOR NEW LUMACURVE SIGN PANELS.	1	ALL	\$900.00	\$900.00	\$900.00	\$900.00	\$500.00	\$500.00
49	D-701-5.1 36" CLASS II REINFORCED CONCRETE PIPE	300	LF	\$203.92	\$61,176.00	\$164.80	\$49,440.00	\$150.00	\$45,000.00
50	D-751-5.1 MODIFICATION OF EXISTING DRAINAGE STRUCTURE - PR-01	1	EA	\$1,980.00	\$1,980.00	\$2,191.75	\$2,191.75	\$3,000.00	\$3,000.00
51	D-751-5.2 FDOT TYPE "D" DITCH BOTTOM INLET	1	EA	\$5,610.00	\$5,610.00	\$5,742.88	\$5,742.88	<u>\$5,000.00</u>	\$5,000.00
52	P-101-5.2 BITUMINOUS PAVEMENT MILLING (1")	2351	SY	\$3.53	\$8,299.03	\$3.94	\$9,262.94	\$5.50	\$12,930.50
53	P-401-8.1.1 HOT MIX ASPHALT PAVEMENT	256	TON	\$147.15	\$37,670.40	\$195.27	\$49,989.12	\$200.00	\$51,200.00
54	EP-603-5.1 MULSIFIED ASPHALT TACK COAT	282	GAL.	\$5.50	\$1,551.00	\$10.80	\$3,045.60	\$5.00	\$1,410.00
55	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED, YELLOW)	400	SF	\$1.60	\$640.00	\$7.05	\$2,820.00	\$1.92	\$768.00
56	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)	700	SF	\$1.16	\$812.00	\$1.19	\$833.00	\$1.28	\$896.00
57	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS	1100	SF	\$1.16	\$1,276.00	\$1.35	\$1,485.00	\$1.45	\$1,595.00
58	P-608-8.1 ASPHALT SURFACE TREATMENT	6250	SY	\$6.19	\$38,687.50	\$1.32	\$8,250.00	\$2.00	\$12,500.00
59	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED, YELLOW)	2000	SF	\$1.38	\$2,760.00	\$1.94	\$3,880.00	\$1.92	\$3,840.00
60	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)	1500	SF	\$1.16	\$1,740.00	\$1.39	\$2,085.00	\$1.28	\$1,920.00
61	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS	2500	SF	\$1.16	\$2,900.00	\$1.47	\$3,675.00	\$1.45	\$3,625.00

		Hardrives, Inc. (Hard			c. (Hardrives of	Stanford Construction		Municipal Contractors	
				2101 South Congress Avenue		1081 N.W.	12th Terrace	8958 Cypress Grove Lane	
	Bidders:			Delray Beach, Fl 33445		Pompano Beach, Fl 33069		West Palm Beach, Fl 3341	
62	FINISHES	1	LS	\$2,750.00	\$2,750.00	\$1,500.00	\$1,500.00	\$2,895.00	\$2,895.00
63	CLOSE-OUT	1	LS	\$3,300.00	\$3,300.00	\$4,400.00	\$4,400.00	\$2,895.10	\$2,895.10
64	CONTINGENCY	1	LS	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	<u>\$25,000.00</u>	\$25,000.00
65	PERMIT ALLOWANCE	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
66	INDEMNIFICATION	1	LS	\$10.00	\$10.00	\$10.00	\$10.00	<u>\$10.00</u>	\$10.00
				Total Price	\$1,179,864.93	Total Price	\$1,250,750.76	Total Price	\$1,294,999.00

				Ranger Construction		DP Development, LLC.		R &	D Paving	
				101 Sans	bury's Way	2240 N.W.	22nd Street	400 Executive Center Dr, Ste 210		
	Bidders:			West Palm B	each, Fl 33411	DP Develo	pment, LLC.	West Palm	Bech, Fl 33401	
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
1	C-100-14.1 CONTRACTOR'S QUALITY CONTROL PROGRAM (CQCP)	1	LS	\$32,000.00	\$32,000.00	\$34,000.00	\$34,000.00	\$350,000.00	\$350,000.00	
2	C-102-5.1 TEMPORARY AIR AND WATER POLLUTION, SOIL EROSION, AND									
	SILTATION CONTROL	1	LS	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$40,000.00	\$40,000.00	
3	C-105-5.1 MOBILIZATION (5% OF OTHER ITEMS)	1	LS	\$65,600.00	\$65,600.00	\$61,000.00	\$61,000.00	\$78,000.00	\$78,000.00	
1	S-102-5.1 AIRPORT SAFETY AND MAINTENANCE OF AIR OPERATIONS AREA									
	TRAFFIC REQUIREMENTS	1	LS	\$160,000.00	\$160,000.00	\$85,000.00	\$85,000.00	\$31,000.00	\$31,000.00	
	S-103-5.1 PROJECT SURVEY AND STAKEOUT	1	LS	\$44,988.00		\$15,000.00	\$15,000.00		\$32,500.00	
6	P-101-5.1 FULL DEPTH ASPHALT PAVEMENT REMOVAL	1200	SY	\$9.60	\$11,520.00	\$15.00	\$18,000.00	-	\$19,200.00	
7	P-101-5.2 BITUMINOUS PAVEMENT MILLING (1")	8300	SY	<u>\$2.30</u>	\$19,090.00	\$3.50	\$29,050.00	\$2.45	\$20,335.00	
8	P-151-4.1 CLEARING AND GRUBBING	9200	SY	\$3.33	\$30,636.00	\$2.00	\$18,400.00	\$1.00	\$9,200.00	
9	P-152-4.1 UNCLASSIFIED EXCAVATION (SITE GRADING)	10400		\$2.00	\$20,800.00	\$6.25	\$65,000.00	<u>\$1.00</u>	\$10,400.00	
10	P-154-5.1 12" SUBBASE COURSE (LBR-40)	3000	SY	\$13.80	\$41,400.00	\$13.30	\$39,900.00	\$17.35	\$52,050.00	
11	P-211-5.1 LIMEROCK BASE COURSE (8" THICK)	3000	SY	\$16.20	\$48,600.00	\$16.90	\$50,700.00	\$22.00	\$66,000.00	
12	P-401-8.1.1 HOT MIX ASPHALT PAVEMENT	2300	TON	\$150.00	\$345,000.00	\$197.00	\$453,100.00	\$161.00	\$370,300.00	
13	P-602-5.1 EMULSIFIED ASPHALT PRIME COAT	1500	GAL.	\$4.75	\$7,125.00	\$6.00	\$9,000.00	\$7.75	\$11,625.00	
14	P-603-5.1 EMULSIFIED ASPHALT TACK COAT	2000	GAL.	\$4.35	\$8,700.00	\$6.00	\$12,000.00	\$7.75	\$15,500.00	
15	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED,									
	YELLOW)	3000	SF	\$2.10		\$2.10	\$6,300.00	<u>\$1.35</u>	\$4,050.00	
16	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)	2200	SF	\$1.25	\$2,750.00	\$1.25	\$2,750.00	<u>\$0.90</u>	\$1,980.00	
17	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS	5000	SF	\$1.40	\$7,000.00	\$1.40	\$7,000.00	<u>\$0.90</u>	\$4,500.00	
18	P-620-5.4 AIRFIELD PAINT REMOVAL	2000	SF	\$3.10	\$6,200.00	\$3.75	\$7,500.00	<u>\$1.65</u>	\$3,300.00	
19	T-904-5.1 SODDING	8200	SY	<u>\$2.25</u>	\$18,450.00	\$3.50	\$28,700.00	\$4.05	\$33,210.00	
20	T-905-5.1 TOPSOILING, 2"	450	CY	\$16.00	\$7,200.00	\$62.75	\$28,237.50	\$27.25	\$12,262.50	
21	L-108-5.1 HAND EXCAVATE MINIMUM 8" WIDE X 28" DEEP IN EARTH.	25	LF	\$67.40	\$1,685.00	<u>\$2.80</u>	\$70.00	\$26.50	\$662.50	
22	L-108-5.2 SAW CUT AND HAND EXCAVATE MINIMUM 8" WIDE X 28" DEEP IN									
	EXISTING FULL STRENGTH PAVEMENT.	25	LF	\$140.45	\$3,511.25	\$33.60	\$840.00	\$33.00	\$825.00	
23	L-108-5.3 3/4" X 20' GROUND RODS CONNECTED TO COUNTERPOISE.	11	EA	\$129.20	\$1,421.20	\$280.00	\$3,080.00	\$275.00	\$3,025.00	
24	L-108-5.4 10' ADDITIONAL GROUND ROD SECTIONS.	11	EA	\$56.20	\$618.20	\$168.00	\$1,848.00	\$165.00	\$1,815.00	
25	L-108-5.5 #6 BARE SOLID AWG COUNTERPOISE CONDUCTOR INSTALLED OVER									
	CONDUIT SYSTEM, NOT PARALLEL TO EDGE OF PAVEMENT.	4400	LF	\$1.25	\$5,500.00	\$2.25	\$9,900.00	\$2.20	\$9,680.00	

				Ranger Construction		DP Development, LLC.		R & D Paving	
				101 Sans	bury's Way	2240 N.W.	. 22nd Street	400 Executive	Center Dr, Ste 210
	Bidders:			West Palm B	each, Fl 33411	DP Develo	pment, LLC.	West Palm	Bech, Fl 33401
26	L-108-5.6 #8, 5KV, L-824 CONDUCTOR INSTALLED IN NEW AND EXISTING								
26	CONDUIT/DUCTBANK/MANHOLE SYSTEM.	6300	LF	\$1.25	\$7,875.00	\$2.25	\$14,175.00	\$2.20	\$13,860.00
27	L-108-5.7 #6, 600V, XHHW, GREEN EQUIPMENT GROUND INSTALLED IN NEW AND								
27	EXISTING CONDUIT/DUCTBANK/MANHOLE SYSTEM.	5200	LF	\$1.35	\$7,020.00	\$2.25	\$11,700.00	\$2.20	\$11,440.00
28	L-110-5.1 ONE 2" SCHEDULE 40 PVC CONDUIT NON-ENCASED DIRECT BURIED IN								
28	EARTH, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	4300	LF	\$7.55	\$32,465.00	\$6.75	\$29,025.00	\$6.60	\$28,380.00
	L-110-5.2 ONE 2" SCHEDULE 40 PVC CONDUIT CONCRETE ENCASED INSTALLED IN								
29	EXISTING FULL STRENGTH PAVEMENT, 24-INCH MINIMUM COVER, COMPLETE IN								
	PLACE.	110	LF	\$101.50	\$11,165.00	\$17.00	\$1,870.00	<u>\$16.50</u>	\$1,815.00
30	L-110-5.3 ONE 4" SCHEDULE 40 PVC CONDUIT NON-ENCASED DIRECT BURIED IN								
30	EARTH, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	50	LF	\$9.00	\$450.00	\$14.50	\$725.00	\$14.50	\$725.00
	L-110-5.4 ONE 4" SCHEDULE 40 PVC CONDUIT CONCRETE ENCASED INSTALLED IN								
31	NEW FULL STRENGTH PAVEMENT, 24-INCH MINIMUM COVER, COMPLETE IN								
	PLACE.	50	LF	\$95.50	\$4,775.00	<u>\$20.00</u>	\$1,000.00	<u>\$20.00</u>	\$1,000.00
32	L-110-5.5 INTERCEPT EXISTING CONDUIT SYSTEM AND CONNECT TO NEW								
	CONDUIT SYSTEM.	10	EA	\$168.50	\$1,685.00	\$84.00	\$840.00	\$82.50	\$825.00
33	L-110-5.6 HAND EXCAVATE AND CONCRETE ENCASE EXISTING 2W4 CONDUIT,								
	COMPLETE.	20	LF	\$168.50	\$3,370.00	<u>\$20.00</u>	\$400.00	<u>\$20.00</u>	\$400.00
34									
	L-115-5.1 L-867 16" DIAMETER JUNCTION CAN WITH COVER INSTALLED IN EARTH.	1	EA	\$1,011.20	\$1,011.20	\$2,900.00	\$2,900.00	\$2,860.00	\$2,860.00
35	L-115-5.2 L-867 16" DIAMETER 2 CAN BOTTOMLESS JUNCTION CAN PLAZA								
	INSTALLED IN EARTH.	3	EA	\$2,977.50		\$7,840.00		\$7,700.00	\$23,100.00
36	L-115-5.3REMOVAL OF EXISTING JUNCTION CAN PLAZA, COMPLETE.	1	EA	\$1,348.30	\$1,348.30	<u>\$135.00</u>	\$135.00	\$135.00	\$135.00
37	L-125-5.1 NEW L-861T(L), LED, TAXIWAY ELEVATED EDGE LIGHT AND BASE CAN IN								
	EARTH.	53	EA	\$1,393.30	\$73 <i>,</i> 844.90	\$1,800.00	\$95,400.00	\$1,760.00	\$93,280.00
38	L-125-5.2 NEW L-861T(L), LED, TAXIWAY ELEVATED EDGE LIGHT MOUNTED ON								
	EXISTING BASE CAN.	7	EA	\$1,286.50	\$9,005.50	\$1,235.00	\$8,645.00	\$1,210.00	\$8,470.00
39	L-125-5.3 INTERCEPT EXISTING CIRCUIT CONDUCTORS IN EXISTING BASE CAN/	. .	<u> </u>	4	40.005	4	4	4	4. 4
	MANHOLE /JUNCTION CAN AND EXTEND CIRCUITS ACCORDINGLY.	11	EA	\$280.90	\$3,089.90	\$110.00	\$1,210.00	\$110.00	\$1,210.00
40	L-125-5.4 IDENTIFICATION OF CABLES, DUCTBANKS AND LIGHTING FIXTURES PER			4	44.406.55	A= 0.40 ==	A= 0.45	4= 000	4= 00= ==
	FAA SPECIFICATIONS.	1	LS	\$1,123.60	\$1,123.60	\$5,040.00	\$5,040.00	\$5,000.00	\$5,000.00

				Ranger C	onstruction	DP Development, LLC.		R & D Paving	
				101 Sans	bury's Way	2240 N.W. 22nd Street		400 Executive Center Dr, Ste 21	
	Bidders:			West Palm B	each, Fl 33411	DP Devel	opment, LLC.	West Paln	n Bech, Fl 33401
41	L-125-5.5 INTERCEPT EXISTING LIGHT BASE CAN IN EARTH/EXISTING PAVEMENT								
41	AND CONNECT TO CONDUIT SYSTEM.	2	EA	\$280.90	\$561.80	<u>\$135.00</u>	\$270.00	<u>\$135.00</u>	\$270.00
42	L-125-5.6 REMOVAL OF EXISTING JUNCTION CAN/LIGHT BASE CAN IN EARTH, COMPLETE.	13	EA	\$168.50	\$2,190.50	\$56.00	\$728.00	\$60.00	\$780.00
	L-125-5.7 RELOCATED L-852D, ALUMINUM FLUSH MOUNTED RUNWAY EDGE LIGHT WITH NEW TOP SECTION INSTALLED ON EXISTING BASE CAN.	1	EA	\$2,213.50	\$2,213.50	\$2,240.00	\$2,240.00	\$2,500.00	\$2,500.00
	L-125-5.8 NEW L-858(L), SIZE 2, 1-2 CHARACTER, LED GUIDANCE SIGN AND	-	L, (<i>\$2,213.30</i>	<i>\$2,213.30</i>	<i>γ2,2</i> 10.00	72,210.00	\$2,300.00	<i>γ2,300.00</i>
44	CONCRETE BASE INSTALLED IN EARTH COMPLETE.	2	EA	\$2,584.30	\$5,168.60	\$8,060.00	\$16,120.00	\$8,000.00	\$16,000.00
	L-125-5.9 NEW L-858(L), SIZE 2, 3-4 CHARACTER, LED GUIDANCE SIGN AND			. ,	. ,	. ,			. ,
45	CONCRETE BASE INSTALLED IN EARTH COMPLETE.	6	EA	\$3,455.10	\$20,730.60	\$9,400.00	\$56,400.00	\$9,250.00	\$55,500.00
1 46	L-125-5.10 NEW L-858(L), SIZE 2, 5-6 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EARTH COMPLETE.	1	EA	\$3,550.60	\$3,550.60	\$10,640.00	\$10,640.00	\$10,500.00	\$10,500.00
47	L-125-5.11 REPANEL L-858(L), SIZE 2, 3 MODULE, LED GUIDANCE SIGN WITH								
47	ALLOWANCE ACCOUNT SIGN LEGEND PANELS.	1	EA	\$337.10	\$337.10	\$560.00	\$560.00	\$550.00	\$550.00
48	L-125-5.12 ALLOWANCE ACCOUNT FOR NEW LUMACURVE SIGN PANELS.	1	ALL	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00
49	D-701-5.1 36" CLASS II REINFORCED CONCRETE PIPE	300	LF	\$157.70	\$47,310.00	\$178.00	\$53,400.00	\$205.00	\$61,500.00
50	D-751-5.1 MODIFICATION OF EXISTING DRAINAGE STRUCTURE - PR-01	1	EA	\$2,276.20	\$2,276.20	\$4,450.00	\$4,450.00	\$3,812.00	\$3,812.00
51	D-751-5.2 FDOT TYPE "D" DITCH BOTTOM INLET	1	EA	\$11,961.25	\$11,961.25	\$8,600.00	\$8,600.00	\$7,450.00	\$7,450.00
52	P-101-5.2 BITUMINOUS PAVEMENT MILLING (1")	2351	SY	\$2.70	\$6,347.70	\$6.00	\$14,106.00	\$2.75	\$6,465.25
53	P-401-8.1.1 HOT MIX ASPHALT PAVEMENT	256	TON	\$155.90	\$39,910.40	\$226.00	\$57,856.00	\$185.00	\$47,360.00
54	EP-603-5.1 MULSIFIED ASPHALT TACK COAT	282	GAL.	\$4.35	\$1,226.70	\$6.00	\$1,692.00	\$7.75	\$2,185.50
55	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED, YELLOW)	400	SF	\$1.85	\$740.00	\$1.85	\$740.00	\$1.55	\$620.00
56	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)	700	SF	\$1.25	\$875.00	\$1.25	\$875.00	\$1.10	\$770.00
57	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS	1100	SF	\$1.40	\$1,540.00	\$2.65	\$2,915.00	\$1.10	\$1,210.00
58	P-608-8.1 ASPHALT SURFACE TREATMENT	6250	SY	\$3.36	\$21,000.00	\$5.60	\$35,000.00	\$5.25	\$32,812.50
59	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED, YELLOW)	2000	SF	\$1.85	\$3,700.00	\$1.85	\$3,700.00	\$1.35	\$2,700.00
	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)	1500	SF	\$1.25	\$1,875.00	\$1.25			
	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS		SF	\$1.40		\$1.40		-	

					onstruction	DP Develo	pment, LLC.	R & D Paving	
					bury's Way	2240 N.W.	22nd Street	400 Executive Center Dr, Ste 210	
	Bidders:			West Palm Beach, Fl 33411		DP Development, LLC.		West Palm Bech, Fl 33401	
62	FINISHES	1	LS	\$5,333.80	\$5,333.80	\$15,500.00	\$15,500.00	\$1,500.00	\$1,500.00
63	CLOSE-OUT	1	LS	\$5,261.20	\$5,261.20	\$15,500.00	\$15,500.00	<u>\$2,500.00</u>	\$2,500.00
64	CONTINGENCY	1	LS	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	<u>\$25,000.00</u>	\$25,000.00
65	PERMIT ALLOWANCE	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	<u>\$10,000.00</u>	\$10,000.00
66	INDEMNIFICATION	1	LS	<u>\$10.00</u>	\$10.00	\$10.00	\$10.00	<u>\$10.00</u>	\$10.00
				Total Price	\$1,321,775.50	Total Price	\$1,545,537.50	Total Price	\$1,671,215.25

				FG Const	ruction, LLC
				2701 N.W	. 55th Court
	Bidders:			Tamara	c, Fl 33309
Line #	Description	QTY	UOM	Unit	Extended
1	C-100-14.1 CONTRACTOR'S QUALITY CONTROL PROGRAM (CQCP)	1	LS	<u>\$5,734.75</u>	\$5,734.75
2	C-102-5.1 TEMPORARY AIR AND WATER POLLUTION, SOIL EROSION, AND				
	SILTATION CONTROL	1	LS	<u>\$1,383.14</u>	·
3	C-105-5.1 MOBILIZATION (5% OF OTHER ITEMS)	1	LS	\$213,005.00	\$213,005.00
4	S-102-5.1 AIRPORT SAFETY AND MAINTENANCE OF AIR OPERATIONS AREA				
4	TRAFFIC REQUIREMENTS	1	LS	<u>\$13,164.50</u>	\$13,164.50
5	S-103-5.1 PROJECT SURVEY AND STAKEOUT	1	LS	\$24,860.00	\$24,860.00
6	P-101-5.1 FULL DEPTH ASPHALT PAVEMENT REMOVAL	1200	SY	\$9.41	\$11,292.00
7	P-101-5.2 BITUMINOUS PAVEMENT MILLING (1")	8300	SY	\$4.52	\$37,516.00
8	P-151-4.1 CLEARING AND GRUBBING	9200	SY	\$3.03	\$27,876.00
9	P-152-4.1 UNCLASSIFIED EXCAVATION (SITE GRADING)	10400	SY	\$4.37	\$45,448.00
10	P-154-5.1 12" SUBBASE COURSE (LBR-40)	3000	SY	\$7.04	\$21,120.00
11	P-211-5.1 LIMEROCK BASE COURSE (8" THICK)	3000	SY	\$20.34	\$61,020.00
12	P-401-8.1.1 HOT MIX ASPHALT PAVEMENT	2300	TON	\$282.50	\$649,750.00
13	P-602-5.1 EMULSIFIED ASPHALT PRIME COAT	1500	GAL.	\$4.52	\$6,780.00
14	P-603-5.1 EMULSIFIED ASPHALT TACK COAT	2000	GAL.	\$4.52	\$9,040.00
15	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED,				
15	YELLOW)	3000	SF	\$2.09	\$6,270.00
16	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)	2200	SF	\$1.24	\$2,728.00
17	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS	5000	SF	\$1.41	\$7,050.00
18	P-620-5.4 AIRFIELD PAINT REMOVAL	2000	SF	\$3.11	\$6,220.00
19	T-904-5.1 SODDING	8200	SY	\$6.40	\$52,480.00
20	T-905-5.1 TOPSOILING, 2"	450	CY	<u>\$13.56</u>	\$6,102.00
21	L-108-5.1 HAND EXCAVATE MINIMUM 8" WIDE X 28" DEEP IN EARTH.	25	LF	\$27.12	\$678.00
22	L-108-5.2 SAW CUT AND HAND EXCAVATE MINIMUM 8" WIDE X 28" DEEP IN				
22	EXISTING FULL STRENGTH PAVEMENT.	25	LF	\$38.42	\$960.50
23	L-108-5.3 3/4" X 20' GROUND RODS CONNECTED TO COUNTERPOISE.	11	EA	\$327.70	\$3,604.70
24	L-108-5.4 10' ADDITIONAL GROUND ROD SECTIONS.	11	EA	\$180.00	\$1,980.00
25	L-108-5.5 #6 BARE SOLID AWG COUNTERPOISE CONDUCTOR INSTALLED OVER				
	CONDUIT SYSTEM, NOT PARALLEL TO EDGE OF PAVEMENT.	4400	LF	\$1.98	\$8,712.00

		2701 N.W. 55th Court					
	Bidders:			Tamarac,	FI 33309		
26	L-108-5.6 #8, 5KV, L-824 CONDUCTOR INSTALLED IN NEW AND EXISTING						
	CONDUIT/DUCTBANK/MANHOLE SYSTEM.	6300	LF	\$1.86	\$11,718.00		
27	L-108-5.7 #6, 600V, XHHW, GREEN EQUIPMENT GROUND INSTALLED IN NEW AND						
	EXISTING CONDUIT/DUCTBANK/MANHOLE SYSTEM.	5200	LF	\$1.98	\$10,296.00		
28	L-110-5.1 ONE 2" SCHEDULE 40 PVC CONDUIT NON-ENCASED DIRECT BURIED IN						
	EARTH, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	4300	LF	\$8.02	\$34,486.00		
	L-110-5.2 ONE 2" SCHEDULE 40 PVC CONDUIT CONCRETE ENCASED INSTALLED IN						
29	EXISTING FULL STRENGTH PAVEMENT, 24-INCH MINIMUM COVER, COMPLETE IN						
	PLACE.	110	LF	\$36.16	\$3,977.60		
30	L-110-5.3 ONE 4" SCHEDULE 40 PVC CONDUIT NON-ENCASED DIRECT BURIED IN						
30	EARTH, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	50	LF	\$31.64	\$1,582.00		
	L-110-5.4 ONE 4" SCHEDULE 40 PVC CONDUIT CONCRETE ENCASED INSTALLED IN						
31	NEW FULL STRENGTH PAVEMENT, 24-INCH MINIMUM COVER, COMPLETE IN						
	PLACE.	50	LF	\$72.32	\$3,616.00		
32	L-110-5.5 INTERCEPT EXISTING CONDUIT SYSTEM AND CONNECT TO NEW						
32	CONDUIT SYSTEM.	10	EA	\$298.80	\$2,988.00		
33	L-110-5.6 HAND EXCAVATE AND CONCRETE ENCASE EXISTING 2W4 CONDUIT,						
	COMPLETE.	20	LF	\$90.40	\$1,808.00		
34							
	L-115-5.1 L-867 16" DIAMETER JUNCTION CAN WITH COVER INSTALLED IN EARTH.	1	EA	\$1,389.90	\$1,389.90		
35	L-115-5.2 L-867 16" DIAMETER 2 CAN BOTTOMLESS JUNCTION CAN PLAZA						
	INSTALLED IN EARTH.	3	EA	\$4,068.00	\$12,204.00		
36	L-115-5.3REMOVAL OF EXISTING JUNCTION CAN PLAZA, COMPLETE.	1	EA	\$1,050.90	\$1,050.90		
37	L-125-5.1 NEW L-861T(L), LED, TAXIWAY ELEVATED EDGE LIGHT AND BASE CAN IN						
37	EARTH.	53	EA	\$1,683.70	\$89,236.10		
38	L-125-5.2 NEW L-861T(L), LED, TAXIWAY ELEVATED EDGE LIGHT MOUNTED ON						
36	EXISTING BASE CAN.	7	EA	\$1,175.20	\$8,226.40		
39	L-125-5.3 INTERCEPT EXISTING CIRCUIT CONDUCTORS IN EXISTING BASE CAN/						
39	MANHOLE /JUNCTION CAN AND EXTEND CIRCUITS ACCORDINGLY.	11	EA	<u>\$35.60</u>	\$391.60		
40	L-125-5.4 IDENTIFICATION OF CABLES, DUCTBANKS AND LIGHTING FIXTURES PER						
40	FAA SPECIFICATIONS.	1	LS	\$17,402.00	\$17,402.00		

		FG Construction, LLC			
				2701 N.W	. 55th Court
	Bidders:			Tamarac	, Fl 33309
41	L-125-5.5 INTERCEPT EXISTING LIGHT BASE CAN IN EARTH/EXISTING PAVEMENT				
71	AND CONNECT TO CONDUIT SYSTEM.	2	EA	\$316.40	\$632.80
42	L-125-5.6 REMOVAL OF EXISTING JUNCTION CAN/LIGHT BASE CAN IN EARTH,				
	COMPLETE.	13	EA	\$203.40	\$2,644.20
43	L-125-5.7 RELOCATED L-852D, ALUMINUM FLUSH MOUNTED RUNWAY EDGE				
	LIGHT WITH NEW TOP SECTION INSTALLED ON EXISTING BASE CAN.	1	EA	\$2,881.50	\$2,881.50
44	L-125-5.8 NEW L-858(L), SIZE 2, 1-2 CHARACTER, LED GUIDANCE SIGN AND				
	CONCRETE BASE INSTALLED IN EARTH COMPLETE.	2	EA	\$5,600.50	\$11,201.00
45	L-125-5.9 NEW L-858(L), SIZE 2, 3-4 CHARACTER, LED GUIDANCE SIGN AND				
	CONCRETE BASE INSTALLED IN EARTH COMPLETE.	6	EA	\$8,113.40	\$48,680.40
46	L-125-5.10 NEW L-858(L), SIZE 2, 5-6 CHARACTER, LED GUIDANCE SIGN AND				
	CONCRETE BASE INSTALLED IN EARTH COMPLETE.	1	EA	\$10,339.50	\$10,339.50
47	L-125-5.11 REPANEL L-858(L), SIZE 2, 3 MODULE, LED GUIDANCE SIGN WITH				
47	ALLOWANCE ACCOUNT SIGN LEGEND PANELS.	1	EA	<u>\$180.80</u>	\$180.80
48	L-125-5.12 ALLOWANCE ACCOUNT FOR NEW LUMACURVE SIGN PANELS.	1	ALL	\$1,017.00	\$1,017.00
49	D-701-5.1 36" CLASS II REINFORCED CONCRETE PIPE	300	LF	\$1,070.25	\$321,075.00
50	D-751-5.1 MODIFICATION OF EXISTING DRAINAGE STRUCTURE - PR-01	1	EA	\$3,616.00	\$3,616.00
51	D-751-5.2 FDOT TYPE "D" DITCH BOTTOM INLET	1	EA	\$5,763.00	\$5,763.00
52	P-101-5.2 BITUMINOUS PAVEMENT MILLING (1")	2351	SY	\$4.52	\$10,626.52
53	P-401-8.1.1 HOT MIX ASPHALT PAVEMENT	256	TON	\$282.50	\$72,320.00
54	EP-603-5.1 MULSIFIED ASPHALT TACK COAT	282	GAL.	\$4.52	\$1,274.64
55	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED,				
) 55	YELLOW)	400	SF	\$1.86	\$744.00
56	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)	700	SF	\$1.24	\$868.00
57	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS	1100	SF	\$1.41	\$1,551.00
58	P-608-8.1 ASPHALT SURFACE TREATMENT	6250	SY	\$0.57	\$3,562.50
- FO	P-620-5.1 PERMANENT AIRFIELD PAINT WITH TYPE I BEADS (GREEN, WHITE, RED,				
59	YELLOW)	2000	SF	\$1.86	\$3,720.00
60	P-620-5.2 PERMANENT AIRFIELD PAINT WITH NO BEADS (BLACK)	1500	SF	\$1.24	\$1,860.00
61	P-620-5.3 TEMPORARY AIRFIELD PAINT WITH NO BEADS	2500	SF	\$1.41	\$3,525.00

					FG Construction, LLC		
					2701 N.W.	. 55th Court	
	Bidders:				Tamarac, Fl 33309		
62	FINISHES	1	L	LS	\$13,560.00	\$13,560.00	
63	CLOSE-OUT	1	_	LS	\$5,650.00	\$5,650.00	
64	CONTINGENCY	1	L	LS	\$25,000.00	\$25,000.00	
65	PERMIT ALLOWANCE	1	L	LS	\$10,000.00	\$10,000.00	
66	INDEMNIFICATION	1	L	LS	<u>\$10.00</u>	\$10.00	
					Total Price	\$1,987,449.95	

						Stanford Construction Company					
		Weekley Asphalt	GENEDAL	Florida Blacktop,	Hardrives, Inc. (Hardrives of	(Stanford & Sons Trucking	Municipal	Ranger Construction	DP Development,		FG Construction,
line #	Attribute Name		ASPHALT CO INC	Inc.	Delray, Inc.)	Corporation)	Contractors	Industries, Inc.	LLC.	R & D Paving	LLC
	Substantial Project Completion	90	90	120	00	00	90	00	90	on	90
			20		30	30	30	30	100	30	100
1	Final Project Completion	30	30	160	30	30	30	30	120	30	120
2	Conflict of Interest	No	No	No	No	No	No	No	No	No	No
3	Drug-Free Workplace	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
4	Local Business	No	No	Yes	No	Yes	Yes	No	Yes	No	No
5	Acknowledgement of Addenda	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
6	Terms & Conditions	Agree	Agree	Agree	Agree	Agree	Agree	Agree	Agree	Agree	Agree